Parts List .«..x:

B X )< —
R — — Y Y 1 ]
Model: BCT234 =Y Zk3—F 524978






HEaTROTHERIZDINT

1. EREDTEX DB

wiEs (BX) - BRES - BBHREW - MEZTHIEZEL,

INTEATIAG (X BI R DEE R E ZSRBZEL,

MamlEwnd THRILMIESRSR ] Z2THERATIZEL,
AERRITEBRLIZLDEHYFET .
AERIBRDAFELGCEETHIIENHYFET

Fig. DRRIZTDNT

AFAMR—=UIZFig XXBSRBERTLTHYET . COXXKITAFAIM—D
ELDORHELBEZTERLET,

o a ks 0N

X

T 2R I eeeeeeeeeesessseseseeeeeeeseeeeeeeeeeeeeeee e 1~2
p I L i 3~6
2. IV (DT =R DDA ) e 7~ 10
K AV (U b I 01007 € s 3 11 ~ 12
4. T (FvTLA, BEEUD) e 13 ~ 14

LR D =17 TN 15 ~ 16



1.BCT234

X AR




RHEES | HaES B & & &% &
1-1 364876 | BCT234 1
1-2 229164 | £ I)YUh 1huebA 1
1-3 229150 | TUNDYY 1
1-4 211736 | £44=%") B 1
1-5 211737 | WUN 2
1-6 237535 | MJB'LiN=934T (24) 1 | 7794
1-7 236111 | 3~ 1 [a9-71
1-8 235751 | ARYRMLDAY 1 | 365L
1-9 213548 | AV —bF21-7 1 | 200L
1-10 054691 | VA5 9347 1 | 11794
1-11 089738 | 6 AU Wb (+ T77EVH) 1 | M5X15
1-12 242239 | 2—L7°L—F 1 | BCT234
1-13 229463 | FA94V—Y 1
1-14 231654 | NJI=4 1 | ECO
1-15 222059 | £ 9VUN-7"nUNLI3ET 1 16,17 7494
1-16 126993 | 6 A9 FYh 4 | M5
1-17 222142 | FAIRY (HW 4 | M5X28
1-18 220533 | hahhW o 93487 1




2.BCT234
MUY —




RHES | BHRAES B & 5 &%k &
2-1 631748 | 4507 LN — 1
2-2 631749 | N2HH% M6 1
2-3 631750 | E3% "' % 6X15X2 1
2-4 631751 | &'k M6X22 2
2-5 634568 | T—Yu4 A 1
2-6 631749 | N2YH 'R M6 2
2-7 582438 | AYhYTYE M6 2
2-8 580766 | 4JAZY7'IL M6 3
2-9 631753 | TAI%Y M4X8 2
2-10 631754 | 74 A 1
2-11 631755 | E h"4k*7 ETW6 1
2-12 631756 | A'ALET R2 1
2- 631757 | C h'4h*A7 RTW26 1
2- 582443 | ATYYY 1
2-1 631758 | 4709°Y 1
2-1 631759 | C H'4k*7 STW28 1
2-1 639455 | Ay 2
2-1 638464 | A'TYUY #6082Z 1
2- 634570 | Y317'4 1
2- 639367 | &b M4X15 4
2-21 631763 | 7T)Lb 1
2-22 631764 | NAFAFE R 1
2-23 991913 | 79y 4
2-24 631765 | NAFAMER 3
2-25 580764 | 6 91+ Yh M6 4
2-26 631766 | ¥ 471%Y° M5X20 2
2-27 631767 | #%I44 1
2-28 631768 | 7L A 1
2-29 631769 | K¥3IAnY 1
2-30 580763 | 77U¥ Yk M5 2
2-31 631770 | &b M6X12 1
2-32 631750 | E3%"h % 6X15X2 1
2-33 631771 | A7)V 608 2RS 1
2-34 631772 | C H4hA7 RTW22 1
2-35 631773 | ¥ T7UYIF ABUE 1
2-36 631774 | O Y% P4t 1
2-37 631757 | C h'4b*A7 RTW26 1
2-38 582443 | ATYYY 1
2-39 634569 | 4—Yv49' B 1
2-40 631750 | E3% "' % 6X15X2 1
2-41 631770 | &Lk M6X12 1
2-42 632589 | 6 h9KILE (+ 77 £V )M5XT 1
2-43 632590 | 6 HYHK Vb (+)SW M5X25 1
2-44 631779 | Y34V 1
2-45 631780 | ¥ 7VY7+B 1




2.BCT234
MUY —




RHEES | HaES B & o &% &
2-46 631781 | A7) 6900RS 2
2-47 631772 | Ch4hA7 RTW22 1
2-48 631782 | AALET L2 1
2-49 631755 | Eh"4hA7 ETW6 1
2-50 631783 | "YUy 1
2-51 643721 | 7% 135 1
2-52 643722 | 7AI%Y M4X10 2
2-53 631785 | 7’ L—Fhn— 1
2-54 631786 | #4291EY Y-l 1
2-55 634571 | N'YEY 1
2-56 639368 | AL{44% 1
2-57 639369 | N AN=YADY-IL 1
2-58 223872 | nUN I 1
2-59 223873 | AT— 1




3.BCT234 IT>>>
D520 —=R. 2UA




RHES | BHRAES B & FR B % i
3-1 875398 | IVVY 1 | EE231/62
3-2 289639 | Yu& 1

3-3 289643 | H'ArYb 1

3-4 267290 | A%Ya 2 | M5X20
3-5 272744 | 40Y1L—4 1

3-6 267049 | I AHYE 1

3-7 269826 | TAIRY (H)WSW 2 | M5X25
3-8 246697 | ¥737tV7) 1 [9~117494
3-9 246707 | W' AFYk 2

3-10 246704 | T4NaAy7)—+ 1

3-11 246526 | A%Y)1 4 | M4x8
3-12 266402 | A%Y1 2 | M5X55
3- 247073 | H'AHYb 1

3- 276868 | V& —hn— 1

3- 269827 | FAI%Y (+)WSW 1 | M5X16
3- 247155 | W7°hi=31v771)—b 1

3- 563151 | A%Y1 1 | M6X15
3- 261878 | 6 hoFwb 1 | M6

3- 280144 | AYE VARV (+) 1 | 4X16
3- 273674 | 453095 -A 1

3-21 280488 | ATYYY 2 | #6001
-22 261492 | AALY-IL 1

3-23 261386 | 74— 1

3-24 055185 | C h'4k4D 1 | H28
3-25 261612 | 6 h97FYEK L WSW 3 | M5X30
3-26 272204 | E'AbY 1

3-27 264891 | E'ARYVY 2

3-28 261036 | E'AbuE"Y 1

3-29 288520 | Z—MILATIYVY 1

3-30 261576 | =497’ 2

3-31 274146 | 97090% 7203077 1

3-32 269168 | #7VF7tV7) 1 |33,347494
3-33 269169 | 47VF2 2

3-34 269173 | A7 vy 1

3-35 269647 | 479YFK Ik 2

3-36 269175 | 799¥ 2 | 6.1X15X1.6
3-37 261777 | 9I-7"79v% 2

3-38 272095 | 77UhN=TtU7 C 1 |39~ 41744
3-39 282233 | 77UhN— 1

3-40 289727 | 979FN 7453077} 1

3-41 014210 | C h™4hA" 1 |s10
3-42 269831 | A1V (+)WSW 4 | M5X20
3-43 282215 | Y97’ 1

3-44 281169 | %Y1 1 | 5X16
3-45 277796 | X9 #b7EVT) 1 |46 ~ 52744




3.BCT234 IT>>>
D520 —=R. 2UA




RHEES | HaES B & o &% &
3-46 277797 | 0—4% 1

3-47 277798 | 49 =934T 1T 1 |48 ~ 52744
3-48 279577 | 1—-F434T 1 | 4950744
3-49 278755 | 7770°%%v7° 1

3-50 278756 | 794 1

3-51 278754 | ¥1-7° 1

3-52 278752 | ¥yv7° 1

3-53 261076 | nUrvE— 1 | 3X10

3-54 261417 | $3%" 0 %95+ 1 | M8

3-55 280381 | AA—1 2

3-56 261256 | 6 h97 Y%K Lk WSW 2 | M4X25
3-57 286739 | AN—=497°39" 1 | CJBY

3-58 263804 | )-}F 1

3-59 282880 | -} 1

3-60 280670 | #'mAYb 1

3-61 264588 | 477" 1

-62 269705 | 38 1| 350 hx5 %y
3-63 274191 | 3870 1| 39FUFa94 39

-10 -




4.BCT234 IT>>>
ALY -5

14

-11 -



RHEES | HaES B & o &% &
4-1 282404 | VAW ARI-4T LT 1 [2~117494
4-2 282405 | A4—47+tV77) 1 | 3~10744
4-3 283411 | -1 1

4-4 283412 | hh7'L—b 1

4-5 280930 | 4'uN =27y 1

4-6 280931 | ANATNAT YUY 1

4-7 267213 | ¥YbRY)2 1

4-8 280932 | A-7'7tY77) 1 19107494
4-9 280933 | A4—40-7° 1

4-10 267219 | R4—4)7 1

4-11 280934 | 77-UTtY7 1

4- 280489 | FAI%Y (+)WSW 2 | M4X20
4- 269833 | FAIRY (H)WSW 1 | M4X16
41 272207 | 3N 1

-12 -




o>
FvrIL45Y. BRI >0

5.BCT234 I

@36

-13 -



RHEES | HaES B & o &% &
5-1 289878 | ¥¥7°L4T7EV7Y 1 [2~15744
5-2 274472 | &VIHK T4 1
5-3 262991 | N=VKTFA 1
5-4 262992 | KU hN - 1
5-5 261874 | 7947 1
5-6 283905 | 4'1¥77L 1
5-7 262993 | H'AFYb 1
5-8 262994 | 4°4%77L 1
5-9 282576 | H'AHYb 1
5-10 289396 | ¥ IYh 1
5-11 261871 | O Yuy’ 1
5— 261876 | vy 1
5— 261658 | A4~ 1
5-1 264682 | %Y1 2
5-1 262996 | A%Y1 4
51 261864 | H AHYh 1
5-1 264691 | Oy 1
5— 279011 | H)=+7+¥7") 1 (19~ 217244
5— 266433 | —A7tv7"Y 1

- 264695 | ILAVE 1
5-21 278761 | —+hn'— 1
5-22 269834 | FTA'I%Y (+)WSW 2 | M5X60
5-23 273515 | 4974077 1 |24~ 34754
5-24 273516 | 71—-I)L3Y) 1
5-25 275306 | Av9XXY7ITEUTY 1 [267494
5-26 274875 | NYRY 1
5-27 261696 | 7°1)—4"934T 1
5-28 265752 | #VVAINATTEUTY) 1 |29 ~ 34754
5-29 264031 | N47°9347 1 |30~ 32794
5-30 261115 | 4'0Ayk 1
5-31 261690 | #3947’ 1 | 160L
5-32 263038 | A—n"70-n47" 1 | 3X6X85
5-33 277887 | 7ANAT €Y7 1
5-34 261117 | 9997’ 1
5-35 269828 | TAIRY (HW 2 | M5X16
5-36 281208 | ARy (MW 1 | M5X16
5-37 281007 | 3~ 1 | F3-9h4 A1

- 14 -




6.BCT234
5 &

-}
m]n]

- 15 -



HaEs B M B W B

221460 | K3 Ah'%

210418 | AVE'RYIRANT
022865 | YIAVTFANT
242240 | M)TYRMAEY A3

8X10
BCT234

—_—

-16 -




& X

Q = ULRETR
BHEHRBEXRZEO

fLyR—- b 42— EE 0120-898-114
ZFIFRSRS: AM9:00~PN5:00(X. BH. 1A % <)

WEERAEY Printed in japan 2020-04.J




